[image: image1.jpg]As a result of the audit of the annual report net profit of the enterprise in the
final version differs from the previously collected from un-audited report.
Reasons for the discrepancy are as follows:

- adjusted the structure of classification of costs of the enterprise (between
production and administration of their component parts);

- changed evaluation of residual stocks of finished goods due to the
introduction in the year under the new program inventory;

- updated calculation of deferred income taxes.




